

Mr. Robert McWayne Assistant Director of Public Works City of Hutchins 321 N. Main Street Hutchins, TX 75141

Re:

E. Cleveland Street 18" Wastewater Relief Line Bid Award Recommendation Bid 2024-10

SPI Project No. 23-2121

## Dear Robert:

Schaumburg & Polk, Inc. (SPI) has reviewed the four lowest bids submitted to the City of Hutchins, at 2:00p.m. on March 7, 2024, for the above project. Attached is the bid tabulation. This project was advertised for bid on CivCast and nineteen (19) contractors submitted bids.

The apparent low bid was submitted by Atkins Brothers Equipment Company, Inc. (Atkins) in the amount of \$612,000.00.

We contacted the references in Atkins bid package and received positive references from Tarrant County for waterline projects in the City of Everman and the City of Watauga. The reference indicated they would award Atkins another construction project if they were the low bidder.

Based on the information made available to SPI, we recommend the City of Hutchins accept the bid from Atkins and award they a construction contract in the amount of \$612.000.

Sincerely,

Donna L. Manhart, P.E.

**Project Manager** 

enclosures

## E. CLEVELAND STREET 18" WASTEWATER RELIEF LINE SPI PROJ # 23-2121 BID #2024-10

		Atkins Bros Equip. Co. Inc.			Estrada Concrete Company LLC				Blackrock Construction				Douglas Dailey Conctruction LLC			
Unit	Quantity	Unit Bid Price	Amount Bid	Ur	Unit Bid Price		Amount Bid		Unit Bid Price		Amount Bid		Unit Bid Price		Amount Bid	
SY	870	\$ 10.00	\$ 8,700.	0 \$	19.00	\$	16,530.00	ζ,	\$ 12.50	\$	10,875.00	\$	20.00	\$	17,400.00	
SY	600	\$ 20.00	\$ 12,000.	0 \$	17.00	\$	10,200.00	Ç	\$ 37.00	\$	22,200.00	\$	25.00	\$	15,000.00	
SY	870	\$ 170.00	\$ 147,900.	0 \$	110.00	\$	95,700.00	Ç	\$ 192.00	\$	167,040.00	\$	200.00	\$	174,000.00	
LF	1420	\$ 75.00	\$ 106,500.	0 \$	60.00	\$	85,200.00	Ç	\$ 37.00	\$	52,540.00	\$	35.00	\$	49,700.00	
LF	1500	\$ 136.00	\$ 204,000.	0 \$	220.00	\$	330,000.00	Ç	\$ 192.50	\$	288,750.00	\$	240.00	\$	360,000.00	
EA	1	\$ 21,000.00	\$ 21,000.	0 \$	10,250.00	\$	10,250.00	Ç	\$ 15,770.00	\$	15,770.00	\$	14,000.00	\$	14,000.00	
EA	3	\$ 20,000.00	\$ 60,000.	0 \$	12,500.00	\$	37,500.00	Ç	\$ 13,960.00	\$	41,880.00	\$	12,000.00	\$	36,000.00	
EA	1	\$ 2,000.00	\$ 2,000.	0 \$	1,500.00	\$	1,500.00	Ç	\$ 4,430.00	\$	4,430.00	\$	1,900.00	\$	1,900.00	
LF	1500	\$ 1.00	\$ 1,500.	0 \$	8.00	\$	12,000.00	Ç	\$ 3.50	\$	5,250.00	\$	1.00	\$	1,500.00	
EA	50	\$ 100.00	\$ 5,000.	0 \$	25.00	\$	1,250.00	Ç	\$ 425.00	\$	21,250.00	\$	40.00	\$	2,000.00	
LS	1	\$ 5,000.00	\$ 5,000.	0 \$	12,500.00	\$	12,500.00	Ş	\$ 8,155.00	\$	8,155.00	\$	12,000.00	\$	12,000.00	
SY	600	\$ 34.00	\$ 20,400.	0 \$	10.00	\$	6,000.00	Ş	\$ 12.00	\$	7,200.00	\$	18.00	\$	10,800.00	
LS	1	\$ 8,000.00	\$ 8,000.	0 \$	10,000.00	\$	10,000.00	Ç	\$ 7,000.00	\$	7,000.00	\$	15,000.00	\$	15,000.00	
LS	1	\$ 5,000.00	\$ 5,000.	0 \$	20,000.00	\$	20,000.00	Ç	\$ 34,950.00	\$	34,950.00	\$	10,000.00	\$	10,000.00	
LS	1	\$ 5,000.00	\$ 5,000.	0 \$	32,400.00	\$	32,400.00	Ç	\$ 14,750.00	\$	14,750.00	\$	21,000.00	\$	21,000.00	
Bid Total			\$ 612,000.	0		\$	681,030.00			\$	702,040.00			\$	740,300.00	

## CONTRACTOR REFERENCE QUESTIONS FOE CITY OF HUTCHINS E CLEVELAND STREET 18" WW RELIEF LINE Bid March 7, 2024 \$612,000

Reference: <u>Brad Hearne</u> Project name: <u>City of Everman Water Line</u>, <u>S Race St</u>

Phone: 817-850-7961 Contract amount: \$407,291

Date: 11/2023 Email: blhearne@tarrantcountytx.gov

Contractor: Atkins Bros. Equip Co., Inc.

1. Was the project construction completed? YES.

2. Did the project have change orders? YES TO ADD WORK. NOTHING SUBSTANTIAL OR DUE TO CONTRACTOR INTEGRITY.

- 3. Was the project completed within the allotted working days? YES.
- 4. Would you select them again if they were low bidder for another project? YES.

## CONTRACTOR REFERENCE QUESTIONS FOE CITY OF HUTCHINS E CLEVELAND STREET 18" WW RELIEF LINE Bid March 7, 2024 \$612,000

Reference: Brad Hearne Project name: City of Watauga, Emerson Dr. Water Ln. Imp,

Phone: 817-850-7961 Contract amount: \$303,578

Date: <u>08/2023</u> Email: <u>blhearne@tarrantcountytx.gov</u>

Contractor: Atkins Bros. Equip Co., Inc.

1. Was the project construction completed?

YES.

2. Did the project have change orders? YES TO ADD WORK. NOTHING SUBSTANTIAL OR DUE TO CONTRACTOR INTEGRITY.

3. Was the project completed within the allotted working days? YES.

4. Would you select them again if they were low bidder for another project? YES.